LSBT OREUIRITODIERE &
EAEIEDORIEK(CDULT

202162H28 (N)



i
(O

BRREBOEABEIS R3.1.313R7E
12/1~12/31 1,785l

197%
LA
7%

207m%A% 30/%A% | 40m%A% 5048 60k N 70mxAL
16% 15% 16% 15% 11% 18%

1/1~1/31 8944l

L9 | J0mft  30Mf% | 40REfC  SOMAL 60REA|  70RSLLE

]J.,é:;o 149% 13% 149% 149% 10% 24%




= HERREE (12A8) N

PO ‘

=B

13% 10634l

Sl '
i

iy
13%




= EERER (18) s

P SEREIS
2%

85 '




=r
X

%%

=n
X

[ — v

— ¥ﬁ' *E!E&gé% 0)‘7?%5'&5'] E“é R3.1.31357F

®@12/1-12/31 17854 (BE&EH 12 BERTErza)1,773/41)
ABz ) = i
23% 20% 56%

®@1/1-1/31 89445l (FEER1726 BEELE T GrEas)72241)
ABz el £ i
24% 549 199%

3%

XBEER TAICDWTCIEER TRROBEER



= BRRIROBIRDR 5.0

RkstE 10A B BB OFRRRE 7.5 A/105 A
100
90 -
80 -
70 - 1
o 411 I 14 : :

12H8H 12H15H 12H22H 12H29H 1H5H 1H12H 1H19H 1H26H 2H2H



R3.2.2171%

== 18R - AO105 AN DO RBRE

S
a5’ [m 18EILbE }

ATF— I LANJVEUT 2k

40
35
- 1H14H (K)
23-0N 105 - 1:Eh] Z25—N
25
13.5./105A - 1503
- 2A28 (K)
7.5/105 - 120
10
25—
5 - e
16H ]
0
M M MO M M MO M M M MO M M O MO W MO M m m
ggﬁﬁ&gﬁﬁ:ﬂﬂﬁﬂﬁmﬂﬁﬂﬁﬁ
T RERRSSE D ETEEREEEEE R S



AR RB I

2F—JTDOLARITT
(15 AKE/ AO108 A - 1:8[H)

ZEN(CHEFELTHD

Big 9 NEkR¥E(T
hmEDSERD
CRAEHDODTVNEXT




= Bl FCEH

R3.1.31IR7%

REABINTH T D

S = *
B4 1,670 A 38 A 2.28 %
2% 1,507 A 21N 1.39 %
5 3,177 N 50 A 1.86 %

T [E 1.47 %

INZIE! 1.92 %
(R3.1.30187%)




= ABISETEE R3.1315

38
40()0

35
30
25

19
20

15
10

R2F10H 114 12H R3%F1H
(#2#L59 N)



= JECEDERNIS
SO

2%

90N
25%

80w A\
42%

60k
9%

70%A\
22%

R3.1.31IR7%

X5 AZUN)
504K 1
607m%A% 5
705m%A4% 13
807X 25
905%AX 15

5t 59




R3.1.313H7E

= BREBRCHITIHCERDES

FFN 1.8

S0R%fL ]o.z

60/ 1.6

70/ 4.1

804\ 13.2

90 AN 23.4

I I | ' (0/0)
0) 5 10 15 20 25

(RETRPEES, 177N FETEESON)



= SHEH SECETORK 1

31HE E

10/0\
S5HA
10%

~15H

0)
12% (#82 59N)



= SET-E OB IEHIBIFDREIR R3.1.315E

BB
1A
1.7%
HAEIA EXJiE
6N 35.A
10.2% 59.3%
0% 20% 40% 60% 80% 100%

(#8280 59N)



= RCECHITIEREE -

HiexBOHEHE

A~HH
XU 1A ‘ ]
6A 2% FIRERREBEDN;E
10%
ILMEE 15
AN ExE 14
I 12
0 NEPKIA
52A = IMEAE 12
88% :
A 6

(#8328 59.A) (BhgixEBHD 52A)



= L\D6. FALRTHASHE

REABRISREHARDTEDUETT
L RENR . DEDAFA PP,

K1z
- NCAEEDBARDIZBRE

HRxEDH DAL L\DEEIED &R
7ﬂ:'¢<[§$ FULLD

SERBDDDITNNDHIE(E. AHATRT
W%ﬂ]‘ﬁﬁ’ﬁﬁﬂ@% LEU&LD




